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SN KX D
HE: NYHE A 2
ool gel® zEegael CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
XX & F Dt 24,211,843 25, 152,574 £940,731
2 31,502 31,502 0
= 64,570 64,570 0
Al 24,115,771 25,056,502 £940,731
Sey o2y st 6,348,236 7,243,370 895,134
2 31,502 31,502 0
< 64,570 64,570 0
Al 6,252, 164 7,147,298 £895,134
gax xSy 1,069,633 1,232,606 ~162,968
oAb 22 1,069,633 1,232,606 £162,968
201 2Bt | 159,338 180,938 A21,600
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308 XHXI €A S 01 & 33,437 40,312 76,875
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OFA S0t S A o0& 0 55,000 55,000

ZAZ 350,000 355,000 A5,000

ZAZ 350,000 355,000 A5,000

O St0IS SFE!HA Al&tZE L LA o0& 0 5,000 5,000

HI (KFXI 8 & D) 17,863,443 17,909, 204 N45,761
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